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Answers and commentaries

This resource is to be used alongside the AS Economics Component 7135/2 The national

economy in a global context June 2022 Question paper and inserts.

Context 1

Economic growth
10 mark question

Question 25
Extract B (line 2) states: '...there were signs that economies were in the midst of a global
slowdown'.

Explain how a global slowdown can affect employment in the UK.
[10 marks]

Mark scheme
The levels of response grid below should be used when marking the 10 mark questions.

Level of An answer that: Max 10
response marks
Level 3 ¢ iswell organised and develops one or more of the key issues | 8-10
that are relevant to the question marks
e shows sound knowledge and understanding of relevant
economic terminology, concepts and principles
e includes good application of relevant economic principles
and/or good use of data to support the response
e includes well-focused analysis with a clear, logical chain of
reasoning
e may include a relevant diagram to support their explanation.
Level 2 e includes one or more issues that are relevant to the question | 4-7

e shows reasonable knowledge and understanding of economic | marks
terminology, concepts and principles but some weaknesses
may be present
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includes reasonable application of relevant economic
principles and/or data to the question

includes some reasonable analysis but it might not be
adequately developed and may be confused in places

may include a relevant diagram to support their explanation.

Level 1 is very brief and/or lacks coherence 1-3
shows some limited knowledge and understanding of marks
economic terminology, concepts and principles but some
errors are likely
demonstrates very limited ability to apply relevant economic
principles and/or data to the question
may include some very limited analysis but the analysis lacks
focus and/or becomes confused
may include a diagram but the diagram is likely to be
inaccurate in some respects or is inappropriate.

Relevant issues include:

e meaning of global slowdown/employment/recession

e higher unemployment abroad

¢ lower incomes/falling demand/falling investment abroad

o fall in demand for UK exports - consumer goods/capital goods/raw materials

o fallin AD/negative multiplier/accelerator effects

e confidence/gloomy expectations

e firms unwilling to invest/fewer jobs created/falling employment

e short-term/long-term effects.
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Student responses
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This is a Level 3 response

This question is marked using a level of response mark scheme that assesses knowledge
and understanding, application and analysis. When awarding the mark, a judgement is
made regarding the overall quality of the response.

This answer scores 10 marks out of 10. The student has clearly focused on the impact of a
global slowdown. They start by considering the causes of a global slowdown, explaining
the impact of the Covid pandemic on different components of aggregate demand.

There are well developed, logical chains of reasoning which use a diagram to illustrate a
fall in aggregate demand. The student continues by analysing the consequences on
employment in the UK. It is well organised - the student focuses on cyclical and then
structural employment, using data from the extracts and their own knowledge of the UK
economy to support the response.

10 marks
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This is a Level 1 response

The student demonstrates some limited knowledge and understanding of the impact of a
global slowdown on employment in the UK. There is some limited analysis but it is brief. A
diagram is included but not referenced and given no credit. Overall, a high Level 1
response.

3 marks
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Response C
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This is a Level 1 response

This answer scores 1 mark out of 10. The answer is very brief and lacks focus on how a

global slowdown can affect employment in the UK. There is limited knowledge and
understanding of economic terminology, concepts and principles.

1 mark
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25 mark question

Question 26

Extract C (lines 2-4) states: "...the Prime Minister, Boris Johnson, had promised to make the
2020s a "decade of prosperity and opportunity.” If this is to be achieved, it will be essential to
find ways to boost both short-run and long-run growth'.

Use the extracts and your knowledge of economics to evaluate different policies that can be
used to increase the long-run rate of growth of the UK economy.

Mark scheme

[25 marks]

The levels of response grid below should be used when marking the 25 mark questions.

Level of
response

Response

Max
25 marks

5

Sound, focused analysis and well-supported evaluation that:

is well organised, showing sound knowledge and
understanding of economic terminology, concepts and
principles with few, if any, errors

includes good application of relevant economic principles to
the given context and, where appropriate, good use of data
to support the response

includes well-focused analysis with clear, logical chains of
reasoning

includes supported evaluation throughout the response and
in a final conclusion.

21-25
marks

Sound, focused analysis and some supported evaluation
that:

is well organised, showing sound knowledge and
understanding of economic terminology, concepts and
principles with few, if any, errors

includes some good application of relevant economic
principles to the given context and, where appropriate, some
good use of data to support the response

includes some well-focused analysis with clear, logical chains
of reasoning

includes some reasonable, supported evaluation.

16-20
marks
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3 Some reasonable analysis but generally unsupported 11-15

evaluation that: marks

e focuses onissues that are relevant to the question, showing
satisfactory knowledge and understanding of economic
terminology, concepts and principles but some weaknesses
may be present

e includes reasonable application of relevant economic
principles to the given context and, where appropriate, some
use of data to support the response

e includes some reasonable analysis but which might not be
adequately developed or becomes confused in places

e includes fairly superficial evaluation; there is likely to be
some attempt to make relevant judgements but these are
not well-supported by arguments and/or data.

2 A fairly weak response with some understanding that: 6-10

e includes some limited knowledge and understanding of marks
economic terminology, concepts and principles but some
errors are likely

e includes some limited, application of relevant economic
principles to the given context and/or data to the question

e includes some limited analysis but it may lack focus and/or
become confused

e includes attempted evaluation which is weak and

unsupported.
1 A very weak response that: 1-5
e includes little relevant knowledge and understanding of marks

economic terminology, concepts and principles

¢ includes application to the given context which, at best, is
very weak

e includes attempted analysis which is weak and unsupported.
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Areas for discussion include:

e economic growth

e short-run growth versus long-run growth

e determinants of long-run trend rate of growth

e supply-side policies

e fiscal policy and its influence on the supply side of the economy

e advantages and disadvantages of various supply-side policies

e the role of monetary policy in helping to increase the long-run rate of growth

e the importance of confidence/uncertainty

e demand-side factors affecting long-run growth

e supply-side factors affecting growth

e consideration of the amount of spare capacity within the economy

e therole of the private sector in helping to achieve economic growth

e multiplier/accelerator effects

e consideration of the economic cycle

e consideration of limitations, such as import taxes, Brexit, the size of the budget deficit

e the importance of external influences, such as ‘the global slowdown'’

e consideration of the context of the UK economy, such as ‘a decade of prosperity and
opportunity’.

The use of relevant diagrams to support the analysis should be taken into account when
assessing the quality of the student’s response the question.
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Student responses

Response A
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This is a Level 5 response

The student begins by explaining long-run economic growth. Defining the key terms in the
essay is a good way to ensure focus and in this case helped the student to focus on long-
run growth rather than growth in general. There is good understanding of economic terms
and principles throughout the essay. Key terms are defined and the chains of reasoning
are well developed and logical. The student shows a clear knowledge and understanding
of monetary policy - using the transmission mechanism to fully analyse expansionary
monetary policy. Evaluation is supported by reference to the extracts.

The next argument focuses on how interventionist and labour market reforms can
increase the long-run growth of the UK economy. There is a clear judgement that supply-
side policies would be more effective than monetary policy in achieving this aim. The
student justifies this decision with good skills of analysis, selecting specific supply side
policies and explaining how they would raise productive capacity.

The final conclusion is fully focused on the demands of the questions and makes a clear,
supported judgement, considering both short run and long run growth. An excellent
response fully deserving top marks.

25 marks
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Response B
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This is a Level 3 response

The student begins by explaining economic growth and the policies that may be used to
increase economic growth but is not specific about long-run growth. The student's first
point analyses the impact of monetary policy on growth. Again, there is a lack of focus on
the demands of the question. The student only discusses the impact of expansionary
monetary policy on aggregate demand and does not consider long-run growth. The
evaluation of monetary policy considers the inflationary effects of an increase in aggregate
demand.

The next argument focuses on supply side policies. There are clear, logical chains of
reasoning and some use of the extracts to analyse how the policies increase the long-run
productive potential of the UK economy. There is fairly superficial evaluation of supply side
policies at the end of the paragraph that are not supported by data or explained in any
detail.

The student does not write a final conclusion and reaches the top of Level 3 overall.

15 marks
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Supphy  side plans  ono. plans  wch
wall  nelp  poth P swpdd B LISSLULIVR
RS dodes in eNTOCY € dus ds dene byt
_opuaenoalnk e 9end tneiv  wnds an Hungs
1-1\4_@;1@;4&9_%%“_&%_@_&@4_
_roAls ond elecic  vehiden
Jllmm_@huﬂ_ﬁw—ma_bb;mjﬁ_
increase  We long  run  coke O gowih in fhe
Li's  exonomw  as  the  monstary oand  pisaal
onet Chs WSt ndecent
o winexve as ps ol poliey ogeeaks

Faxes . WW

LS expansionacy  menctary  pokicy  trus ueoud
_MLAN o ~Rekatl——ederesto r  peduce mm{ﬂo%mrk
and wncrease.  inglahon. Thus weouwld Whove o

positive ivapaek  on e qrowth op  the

m;s_unamnbj_ﬂb_lﬁs people  yill be

Mor INCo be

broun‘hi- i~ cowsng a posthive  shugt oY
he DK'S emnmqr._

Pric
e \ , AS)

N £ .

© 2024 AQA 20 of 41



AS ECONOMICS - 7135 - PAPER 2 - ANSWERS AND COMMENTARIES

The AD[ AS groph  showsy  AD
_shugting  to  Hhe  0ght wwhich means  the
iS o growth in  yhe economy. Ths s
Shovwn  grom Vi - N2 winich choweones  the
mnevease o _AD..

This is a Level 2 response

The student begins with a vague definition of supply side policies. They identify monetary
and fiscal policies as ways to increase the long-run rate of growth in the UK economy but
are limited in their knowledge and understanding of economic terminology, concepts and

principles. There is some limited analysis but it lacks focus on long-run growth, using a
diagram to consider only short-run growth. The answer is brief and does not reach a final
judgement, so just achieves Level 2.

6 marks
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Context 2

Government spending and taxation
10 mark question

Question 31

Extract F (lines 1-2 and 8) states: ‘As part of fiscal policy, government spending can be used to
allocate resources to different regions and sectors of the economy and consequently, change
the pattern of economic activity...Taxation also has a role to play in affecting the pattern of
activity'.

Explain ways in which a government can use fiscal policy to affect the pattern of economic
activity.
[10 marks]

Mark scheme
Use levels of response table on page 3 and 4.

Relevant issues include:

¢ meaning of fiscal policy/government spending/taxation

e the pattern of economic activity - some areas of the economy will expand others may
contract

e direct impact of government spending - if, for example, the government spends more on
the NHS more factors of production will be devoted to providing health care

e subsidies - for example, in the context of regional policy/renewable energy/the
development of new technologies

e direct taxation - for example, its role in the creation of incentives to carry out R and
D/innovation

e indirect taxation - for example, used to discourage the consumption of demerit goods.
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Student responses
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This is a Level 3 response

This question is marked using a level of response mark scheme that assesses knowledge
and understanding, application and analysis. When awarding the mark, a judgement is
made regarding the overall quality of the response.

This answer scores 10 marks out of 10. The student has written an answer that is well
organised. They have considered ways that the government can use fiscal policy to affect

the pattern of economic activity using the prompts in the extracts to develop clear, logical
chains of reasoning using a diagram to illustrate how an indirect tax can reduce
consumption and production. They go on to discuss how government spending on
infrastructure may boost aggregate demand in a specific region. This again picks up on
prompts in the extracts. Students should be encouraged to look for clues in the extracts to
build their answer around. A top Level 3 response.

10 marks
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This is a Level 2 response

The student includes some clear, well developed chains of reasoning but unfortunately,
they focus on how fiscal policy affects the level of economic activity instead of how it
affects the pattern of economic activity. Students need to be taught the difference

between the level and pattern of economic activity.
Overall a mid-Level 2 response.

5 marks
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Response C
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This is a Level 1 response

The student’s answer does focus on how fiscal policy can affect the pattern of economic
activity but the answer is brief, demonstrating limited knowledge and understanding of
economic terminology, concepts and principles. They have used the data but the analysis
is confused. The second point adds no credit to the answer so overall, top Level 1.

3 marks
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25 mark question

Question 32
Extract E (lines 4-6) states: '...the report suggested that significant increases in spending
would be required to help improve the wellbeing of the UK population'.

Use the extracts and your knowledge of economics to assess the view that a long-term,
significant increase in government spending would be beneficial for the UK economy.
[25 marks]

Mark scheme
Use the levels of response table on page 9 and 10.

Areas for discussion include:

e government spending/fiscal policy

e ‘wellbeing of the UK population’

e beneficial to the ‘UK economy/macroeconomic policy objectives

e impact on economic growth

e impact on unemployment/employment

e impact on inflation

e impact on the balance of payments current account

e consideration of the extent of spare capacity

e consideration of ‘where’ the money is spent, for example, energy improvements/arts
industry

e demand-side versus supply-side influence

e consideration of ‘significant increase’

e impact on investment

e multiplier/accelerator effects

e consideration of the budget deficit/national debt

e consideration of possible increases in taxation

e consideration of the economic cycle

e the importance of confidence/uncertainty

e the importance of external influences.

The use of relevant diagrams to support the analysis should be taken into account when
assessing the quality of the student’s response the question.
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Student responses

Response A
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This is a Level 5 response

The student begins by defining some key terms. They follow with clear, well developed
chains of reasoning that explain how greater spending on public services will increase the
demand for labour and reduce unemployment. The analysis is extended by using the
multiplier process. The subsequent evaluation uses a key economic concept (crowding out)
to question the previous analysis. The evaluation is well developed and supported by
sound knowledge and understanding.

The next point looks at a potential drawback of increasing government spending. The

student discusses the inflationary impact and they use diagrammatic analysis to support
the response. They go on to evaluate this point by including well-focused analysis that
considers supply side policies and how they aid non-inflationary growth.

In the final judgement the student repeats the question. This is good exam technique to
ensure that the conclusion focuses precisely on the question set. The student then uses ‘it
depends’ to show that they understand the complexity of the question and how context is
key when making a judgement. The judgement is clear and well supported, a top Level 5
response.

25 marks
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Response B
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This is a Level 4 response

The student demonstrates some good application of relevant economic principles and
makes good use of the data to support the response. The chains of reasoning are clear
and logical. It would be improved if the student had used paragraphs to separate different
points.

The final conclusion is clear and supported, making this a high Level 4 response.

There is a diagram included at the end that is not referenced. Students need to include an
explanation of their diagrams within the chains of reasoning in order to receive any credit.

19 marks
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This is a Level 4 response

The student begins by analysing the impact of supply side policies on the productive
potential of the economy. They evaluate by stating that the policies may be expensive and
take years to come into effect, which is very generic. The next point focuses on
expansionary fiscal policies and better use is made of the extracts to support reasoning.
The student extends their analysis by explaining the multiplier process, taking a prompt
from the extracts.

The final conclusion is fully focused on the demands of the questions and shows an
appreciation that the decision on whether the government should increase spending will
depend on the stage of the economic cycle. overall, low Level 4.

16 marks
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